Nexus &£2|X[| Y B3 AX| 2F EBET

s gm

>
=
FO
>

9||_

-0
>
9||_

HHZd &
UDLD @& =74
Bloj3
IxRx X
UDLD Z Qo] ZHEt AR =Lt
UDLD 25 AMEj ET{ELE]
JIOQ.%} 0424

e Mg

)|

O] EM0i| M= Cisco Nexus 7000 Series £ ?|x|0{| A{ UDLD(Uni-Directional Link Detection) 27 |
AXIE idst= WEdof chal AHEELICt

AE 27 Ag

T A

i
>
mjo
e
02
!
C
Ami

CiscoOlH= CHS &=of Cist 7|8 R|AS 2

« Cisco Nexus 24 | Xl|(Cisco NX-OS)
- 7|2 UDLD 2Y

MNEEE TE 24
Ol 2Xe|l YE = Chg AT ESo{ A stEH o HTE 7|Ete =z Lot

* Cisco Nexus 7000 Series Switch
« Cisco NX-OS H7 6.2(10)

ol EMel &

rr

EYH #ZolClHIO|IAE EUE A EEI&LICE o] EAM0i ALEE 2 E Clut

MO



Olak %7|8HE(7|2) HI|TB0IMe 2 AIREIALICH HA LIEXIT} &S 521 B2 BE
Hao| AAYHQl BEE 0l2| SX|skAI7| HELICH

HiE HE

ZEE UDLD EfX| Z2MA7F AE [ UDLD THZ!E mEHEHLICE o770l AR A% ID &
MR ZE ID7F ZEELICH UDLD IHZ!0| £ AIE|H A %= o] AR|%X| ID & ZE IDE CHA|
Ijofof ol ZELICH ALKIOIA o 2 EHZ!S mEHSHEd kaber 2hA|7F F - EILICE

D

DMAC: 0100 .0cee.coce
. Switch-1D: A ‘
Sﬁiﬁ”t{:h J&'n Port-D: e1/1 DMAC: 0100 0CCe coet S'Iﬁﬂlt(:h E
Porte1/1 Switch-ID: B Porte2/2
Port-ID l:'E-'_f
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DMAC: 0100.0cce.ccce
_ Switch-1D: A ‘ .
Switch A Port-D: e1/1 E T Switch B
Porte1/1 — ST E Porte2/2
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Echo Switch-1D: [Nong]
Echo Port-ID: [None]
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SRl e = err-disable X E
M3I™MOI2E  |lerr-disable ZE

O ChS Ch2 0 22 syslog HIAIX[7F MAdELICEH

2015 Mar 19 11:57:56.155 N7kA ETHPORT-2-IF_DOWN_ERROR_DISABLED Interface Ethernetl/2
is down (Error disabled. Reason:UDLD empty echo)

2015 Mar 19 11:57:56.186 N7kA ETH_PORT_CHANNEL-5-PORT_INDIVIDUAL_DOWN individual port
Ethernetl/2 is down

2015 Mar 19 11:57:56.336 N7kA ETHPORT-2-IF_DOWN_ERROR_DISABLED Interface Ethernetl/2
is down (Error disabled. Reason:UDLD empty echo)
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DMAC: 0100.0cce.cooe
] Switch-D: A B
Switch A PortID: e1/1 DMAC- 0100.0cce coce owitch 7
Porte1/1 - Switch-ID: A Port ?
Port-ID: e1/1
Echo Switch-10: A

echo Port-10: e1M1

Tx-Rx FZ7} EfX|T|H UDLDE CI2 22 £ttt
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= f-] =y err-disable ZE

Hadelze err-disable ZE

O O ChS T 22 syslog HIA|X| 7} A ELICH
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2015 Mar 20 14:52:30 N7kA  %ETHPORT-2-IF_DOWN_ERROR_DISABLED: Interface Ethernetl?7/5

is down (Error disabled. Reason:UDLD Tx-Rx Loop)

2015 Mar 20 14:52:30 N7kA  %ETHPORT-2-IF_DOWN_ERROR_DISABLED: Interface Ethernetl?7/5

is down (Error disabled. Reason:UDLD Tx-Rx Loop)
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DMAC: 0100.0cce.coce
Switch-1D: A DMAC: 0100.0ccc.coce

Switch A Port-1D: 1/1 Switch-ID- B Switch 7

»
Port e1/1 - Port-ID: €22 Port 2
-

T Echo Switch-ID: A
DMAC: 0100, 0¢ccc.ceee Echo Port-ID: e1/4
Switch-1D: A

Port-ID: e1/1
Echo Switch-ID: B
Echo Port-ID: e2/2

DMAC: 0100.0cce.cooc
Switch-10D: C

Port-ID; ed/3

Echo Switch-1D: A
Echo Pornt-ID: &1/1
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od
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bt err-disable X E
MIMolpE err-disable ZE

O3 CHS CHE2 0t 22 syslog HIAIX|7F 24 A ElL|CH

2015 Mar 21 10:23:05.598 N7kA %ETHPORT-2-IF_DOWN_ERROR_DISABLED: Interface Ethernet3/21
is down (Error disabled. Reason:UDLD Neighbor mismatch)

2015 Mar 21 10:24:07.065 N7kA %ETHPORT-2-IF_DOWN_ERROR_DISABLED: Interface Ethernet3/21
is down (Error disabled. Reason:UDLD Neighbor mismatch)
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<#root>
N7KA(config)#

udl d reset

<#root>
N7KA-NORTH-AGG(config-if)#

show udld eth 3/4

Interface Ethernet3/4

Port enable administrative configuration setting: enabled
Port enable operational state: enabled

Current bidirectional state:

bi di recti onal

Current operational state: advertisement - Single neighbor detected
Message interval: 7
Timeout interval: 5

Expiration time: 39
Cache Device index: 1
Current neighbor state: bidirectional



Device I D: JAF1620ABAB

Port | D: Ethernet3/12

Nei ghbor echo 1 devices: JAF1617BACD
Nei ghbor echo 1 port: Ethernet3/4

Message interval: 15
Timeout interval: 5
CDP Device name: N7KB-SOUTH-AGG(JAF1620ABAB)

Last pkt send on: 400096, Aug 6 13:58:52 2014
Probe pkt send on: 400096, Aug 6 13:58:52 2014
Echo pkt send on: 395799, Aug 6 13:58:43 2014
Flush pkt send on: None.

Last pkt recv on: 740333, Aug 6 13:58:52 2014
Probe pkt recv on: 740333, Aug 6 13:58:52 2014
Echo pkt recv on: 730454, Aug 6 13:58:43 2014
Flush pkt recv on: None.

Deep pkt inspections done: None.
Mismatched if index found: None.
Deep pkt inspection drops: None.
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<tfroot>
RTP-Aggl#

show interface ethernet 4/1 | i error| CRC di scard|drop

0 runts
0 giants
0 CRC/ FCs

0 no buffer

0 input error

0 short frame O overrun 0 underrun O qignored
0 watchdog O bad etype drop O bad proto drop 0 if down drop
0 input with dribble

0 input discard

0 output error O collision O deferred 0 late collision
0 lost carrier 0 no carrier 0 babble 0 output discard
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<#froot>
N7K-A#

show system resources

Load average: 1 minute: 0.17 5 minutes: 0.25 15 minutes: 0.20
Processes : 1993 total, 1 running
CPU states

0. 18% user

, 0.81% kernel, 98.99% idle
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*  show tech-support lacp all (Al ZHEF QIE{IH| O| A7} LACP(Link Aggregation Control Protocol) ZE x{'d

O] HILHQ! B<)

® show tech-support module
(x= UDLD 277} B X|E 2 EILICt)

* show tech-support ethpm
¢ show tech-support udid
* show udld internal event-history errors
* show udld internal event-history msgs | grep-a3-b3L2_RX_DATA
* show udld internal event-history ethernet

* show log logfile | grep UDLD
* show log logfile | grep Ethernet

* show processes cpu history

* show interface ethernet
® show hardware internal errors module

* show interface counters errors module
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